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— MIWN2 R5W 0w Mab
Why is he liable by a pit; for it is indeed done without authorization

OVERVIEW

The X713 states that the mwn 7% comes to include the case of damage due to the
waters flowing from private sewer drains — 37°n12°2 Ppn1d. The X 3 asked, if the
waters damaged after they came to rest and the owners were °pon them, it is
similar to 72 (and no Mwn X is required). To which the X723 responded that it is
different from 712, for a 712 is made without permission, however the homeowners
are permitted to empty their sewer drains into the 7"717 (that is why a 131 from W
is required [the MW also has permission to be in the 7", and nevertheless he is
21 (for 17p)] and 37°M2°2 7°Pn2 is derived from a MW 7X).

If a person digs a M2 in his M7 and he is °Pdn the surrounding MwA, but not the
M32; he is 211 (for the M2 1s P 1w ). However if he was 7°pon the 72 and the
mw, according to °"w1 he is (still) 2»n,' while NN maintains that he is 7o (it
was dug MwA1 and it is not his 7).

moon will explain that 77°N12°2 PPNI® can only be derived from a Mwa 7% (of MW
7121), but it cannot be derived from 712 alone (even from a MWN2 AwWYaI 72).

mooIn anticipates a difficulty and resolves it:
*mwaa XYW 19990 9PNV 2 3‘1",72:1‘1 73 9NNY 2muaa INUY 1959NT

For even if he made the 72 with permission, and then he renounced his
ownership (of his M1 and his 712); nevertheless since he was 9°pp» the 712, it is
tantamount to creating it MWa2 XYW. Therefore we cannot derive ‘drains’ from =12

!'See n"71 71"7 'oI MMPORT 1"7 WA 2,10 1pY.

? He made the M2 in his Tm nwA.

? This would seemingly make it N3, similar to the ‘drains’. If we maintain that Y21 M@ P27 is 27 (as "w"
rules; see footnote # 1), NM20IN (anticipated) question is that we can derive the 21 of ‘drains’ directly (without a 7x
mwi) from 713, in a case where he was 17121 1M1 °pon. In both instances it was done M2 and now it is pom.
[moon answers that 2°paw 15 it is considered Nwn2 X7w and not similar to ‘drains’.] The difficulty with this
interpretation is that N90IN maintains that 1121 MW" 1°poi is MWD (see footnote # 1). Alternately, Moo (anticipated)
question is that we can derive ‘drains’ from 1112 °p977 X921 W1 PR (where NwOIN agrees that he is 2°1); if this
will be challenged that 1712 2P X2 \Mw 1poi is 11mn (as opposed to the drain water), we can say 21 1"772 112
(where it is not 1 n and he is 2°°17). When we will then ask mMwn2 1°R 12w 7"772 M2 7n, we will answer DWW po7
%31 12 1P K1 (where it was dug mwa3). The ‘drains; can be derived through a mw: 7% of 712 exclusively ( pon
1712 X271 A and 1"712 12), and we do not require 1 in the 7w 7X. The difficulty with this interpretation is that it
seems from M»on that we can derive ‘drains’ directly from 713, without a mw: 7% at all. See “Thinking it over’ # 1.

* The act of being 7°pon (his M2 and) his N is an act of creating a Nw12 X>w M2; he has no permission to leave a
72 immediately adjacent to the 7"7.
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(alone), since M2 is always considered mwaa X% (as opposed to drains, which are mw92),
therefore we require the r°>1° M.

SUMMARY
The act of making a 712 accessible to the public through P57 is tantamount to
creating a MW" XY 2.

THINKING IT OVER

1. The case of 17°M2°2 NP1 entails creating a MWI2 M3, which is 757, The X773
rules that he is 211 for damages. However, by 11121 1mw1 7°p51, which is also a 712
poi that was made Mwn3, he is 1Mo from paying according to moon.” What is the
difference between these two cases?!°

2. How do we know that 112 2P 891 1w °p5i or 12 MWD °pd is 2,
perhaps only a M2 that was dug initially mwa2 X5 is 212!

3 See footnote # 1 & 3.
® See v> MIX 7"0.
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